SR Z7E
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JIE {2 EE% OUT | IN |4 BOX|H D| NET e
m BX 45 46 91 248 | 66.2
=28 #— 39 40 79 12 67 NP
HE &FIE 35 41 76 88 | 67.2 BGE
X ER 40 44 84 | 152 | 688
At BE— 42 46 88 | 16.8 [ 71.2
frIER 1 — 39 41 80 88 | 71.2
SH BE 40 37 77 56 | 71.4 NP

HEH FE 41 41 82 104 | 716

MO BEF 38 90 88 16 12

IMR BSEE 41 42 83 104 | 726

RiZE EM 49 46 95 | 224 | 726

INEE & 35 49 84 112 | 728 NP

XEF XX 39 45 84 11.2 | 72.8

jna & 42 40 82 8.8 13.2

*EElﬂ*‘ 43 48 91 176 | 73.4

B ST 41 47 88 144 | 736

5%%53 sy=] 41 44 85 112 | 738

MR FF 43 46 89 152 | 738

A FB—BEF | 48 46 94 20 74

EH BEEh 41 46 87 128 | 74.2

BA ﬁﬁ:‘x 43 44 87 | 128 | 74.2 NP
Tk B 45 54 99 | 248 | 74.2
fEpk fa 41 43 84 96 | 744
Lk = 42 46 88 136 | 74.4 NP
BH RE A1 43 84 96 | 74.4
A% BE 37 45 82 7.2 | 748
Gik= m% 43 43 86 | 11.2 | 748 NP
kA EH 40 48 88 | 132 | 748
NESE 42 45 87 12 75

AEF BEX 43 45 88 128 | 75.2

BEf Bk 42 46 88 128 | 75.2

HER 48| 43 50 93 | 176 | 754

HH H%L\ 45 A8 93 176 | 754

MR BR 47 43 90 144 | 756

ik X 43 45 88 12 76

RHE PSR 43 43 86 96 | 76.4

INEF BT X 44 54 08 208 | 77.2

—~FK —[& | 42 50 92 144 | 776

g 8 45 44 89 [ 112 | 778
BT EiE 37 44 81 32 | 778
ER fE— 43 50 93 | 152 | 778
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43 AMHEH BEF 43 51 94 16 78
44 m EC 48 44 92 136 | 78.4
45 Bk BT 55 49 104 | 256 | 78.4
46 ¥ E1T 48 49 97 184 | 78.6
47 HE 2R 41 52 93 144 | 786
48 Sl N; | 45 44 89 | 104 | 786
49 AR IER 42 44 86 72 | 788
50 ELVNEE-S 45 45 90 | 112 | 788
51 | MAN ==X | 51 53 104 | 248 | 79.2
52 ¥ HiER 42 54 96 16.8 | 79.2
53 TE RF 46 53 99 | 192 | 798
54 NP S 47 48 95 15.2 | 79.8
55 = F 49 55 104 24 80
56 ES = 46 50 96 16 80
57 | K% HE—H8 | 37 47 84 4 80 NP2
58 IR =— 52 53 105 | 248 | 80.2
59 | F#=E BH— 46 48 94 | 136 | 804
60 | =ER BERM | 47 48 95 14.4 | 80.6
61 SHF FE= 40 55 95 14.4 | 80.6 NP
62 Tk BB 46 50 96 | 152 [ 808
63 | P9t {£—EBR | 46 50 96 | 152 [ 808
64 | X FHK=E | 44 49 93 12 81
65 XH B 52 58 110 | 288 | 81.2
66 K E— 41 54 95 136 | 814 NP
67 e IR 44 55 99 176 | 814
68 2K BR 46 47 93 112 | 81.8
69 AL FHE 44 49 93 | 112 [ 818
70 PO = 46 52 98 16 82
71 HE BE 52 50 102 | 20 82
72 B i 46 52 98 16 82
73 WA X8 51 56 107 | 248 | 822
74 X¥H =F 47 54 101 | 184 | 826
75 Bk — 47 48 95 12 83
76 EXR WFE 58 53 111 28 83
77 INEE B 49 47 96 | 12.8 [ 83.2
78 =E K- 42 50 92 8.8 | 832
79 RE e = 57 55 112 | 288 | 83.2
80 - N 44 51 95 | 11.2 | 838
81 ik &1 49 51 100 16 84
82 | FH#E ¥ | 49 53 102 | 176 | 844
83 HiE KX 49 52 101 16 85
84 T EE 49 60 109 [ 24 85
85 | &HF {FALfE | 51 58 109 24 85
86 ENEA 52 55 107 | 208 | 86.2
87 NN 46 50 96 96 | 86.4
88 HIE X 48 60 108 | 216 | 86.4
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